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15P/201/30 {i)
No. of Questions : 150
ol ST HEET : 150

1
Time : 25 Hours Full Marks : 450

HHT : 2% qu2 | gl : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark wil! be awarded for each unattempted
question.

HATAFNE T B BT FIA H TAST BT | T0H 99 3 (F)
HH & B FAF THT IOV B G g% ofw wrer ardwm
S ST 98 H AT e 8

(2) If more than one allernative answers scem to be approximate to
the correct answer, choose the closest one.

el I o
01. Genetic industry includes :
(1} Agriculture (2) Fishing
(3) Hunting (4) Mining
Feifesds IRt & aftufea e &
(1) %Y (2) HABAT IESAT
(3) FemERT @A (4) &=
02. Industry creates :
(1) Time utility (2) Form utility
(3) Place utility f4) Possession utility

3 P.T.O.



15P/201/304{i)

05,

I GRA HET B

(1) w99 Iugiiar (2] WIS IO

(3] T IGEPTE (4) SAferae IoEifET
Which of the following is a social objective of business ?

(1) [nnovation {2) Employment generation
(3) Profit generation (4] Risk management
Frfafaa # & =@ H GHIS S5aed H-a1 8 7
(1) HETER (2) TS oA

(3} ¥ gaA (4) EH g==a+

Which of the following statements is true ?

(1) A partnership firm has separaie legal existence.
(2) A partnership firm is a person in the eye of law.
(3] A partnership firm is a charitable institution.

{4) A partnership firm is a profit making organisation.,

Pyt et & § P-or g8 B ?

(1) e wd @ qug e stite W @
(2) wEErd wH WA @ T § O iR B
(3) WEETS FH 0B i w3

(4) HEE T ATHH WA gTEr w@EA 2

Uncertain span of life is a feature of :

(1] Public company {2} Co-operative enterprise
(3) Sole proprietorship {4) Private company
arffYee flaq HE oF aE e

(1) wES FI (2) HEHEH JupH @

(3) TR T @ (4] Tl o



06.

07.

08.

15P/201/304i)

A business cannot exist without :

{1} Government (2} Competitor

(3] Customer (4) Bank

H1g N FgEE Afam § G€ ® Fwar & A

(1) HHR &H (2) ufErEt 3

(3} HEF & 4 Hp F

Which of the fellowing is mot a feature of partnership ?
(1) Unlimited liability (2) Direct motivation
(3) Mutual agency (4) Utmost goed faith
Frriefas & & @r=-ar arserd & oo wdf &

(1) o= =i (2) S AFHSTom
(3) dvEafis WIRERToT (4) 907 Hgfasam™
Which of the following is not a feature of company ?

(1) Artificial person (2) Voluntary association
(3] Separate existence (4) Secrecy

el § & P9-97 FO o qeor a9 & 2

(1) FEM = (2) tftmsw d@g

{3) guF Ao (4) TR

The principle 'One-man-one-vote” applies to :

(1) Government Company (2) Public company
(3) Co-operative Enterprise (4) Partnership Firm

5 P.T.O.
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R s e o Wl B 1 L 1

(1} FERrE & Ao (2) \ESATE T

(3) GEHra IUHA H . (4) QrEEE B OH
10. "He owns all and risks all". This is related to :

(1} Co-operative society (2) Sole Proprietorship

(3) Active partner (4} Special Partner

‘o TR R e 2al ¥ aen ST Sifag IS BT 98
graiad © '

(1) il |k | (2) T @i §

1)\ A EET o (4) 9w GEEr |
11. Which of the following comes under partial consclidation ?

{1) Trust (2} Pool

(3) Carte! (4} Trade association

Frenfafag 8 ¥ BA-F1 ofifas @999 & ST o B 7

(1) =% (2) 9=

(3) A C 4 =T E9

12. Service combination is also called :

(1) Diagonal cumbﬁnatic—n (2] Circular combination
(3} Lateral comhination (4] Mixed combination
Far |G B OHET AR B

(1) Fepcfa G@9== (2) =R HEAH

(3) wied HIrE (4} mfE ddse



13,

14,

15.

16.

15P/201/30}i)

A.C.C. is an example of :
(1) Process combination (2) Horizontal combination
(3) Allied combination {4} Vertical combination

Q.49 U 3eede B o

(1} ofsFr G4 & (2) . AT GG @
(3) == G F7 @) it gaeE =5
Holding company, first of all, came into existence in :

(1) Usa 2} UK.

(3) Germany {4) France

gAgrl} F gduem st F and

(1) g.og.a.Hd (2) I.%. 4

(3) wHAT & C @) wa #

“Management treats him the man of workers while workers treat him
the man of management" . it is said for :

(1) Managing Directar (2] Director
(3} Manager (4)  Supervisor

‘T IH AfREl F eveHl e 2 oEfE afve I8 mEer o
HAEH AT B OET e AN R

(1) w9 dgmes B (2) waeer % fom

(3] U & fau (4) Udzh & favg

Where the consent of both the parties is given by mistake the contract
is ?

(1) Void (2) Valid
(3} Voidable (4) Illegal

7 P.T.O.
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17.

S AT qeERRT & HEei ue @ g @ o el wenfy @

(1) SrA _ (2) TEE
13} gt (4) FAEFREETT
[n a contract of guarantee, there are :
(1) One Contract (2) Two Contracts
(3) Three Contracts (4] Four Contracts
sferafer = e # 9 ¥ -
(1) wh g (2) F dfeed
() @9 diadd (4) =T Higard

1B.

A without B's authority Let-cuts his residentiat bungalow to C.
Afterwords B accepts rent of the bungalow from C. It is an agency
created by !

(1] Holding out (2) Estoppel
(3) Ratification {4) Necessity

F fam a & WiEFR & § & AEEE aTn § S s a7 dar )
qOEIAT 39 S99 H1 fHOar @ @ I TR A & | 98 ST
gfaa fmar = & -

{1} =9 & (2) REg ar
(3) TgEHES BN (4) HELIEHA &

19. The principle that no one shall be allowed to enrich himself at the

expense of another in known as :
(1) Quantum Meruit (2) Nudum Pactum

(3) Quasi-Contract (4) Quantum Valebant
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21.

22.
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wﬁmﬁaﬁ?ﬂiﬁﬁﬁsﬁgﬂ%a&aﬁnﬁwmmﬁzﬁr
SfUHE =6 B, Pewmr &

(1) foreT M o 3w . (2) gfreE g
(3) WfEr-we 4 TEER @i

A voidable contract is one which ?

(1} Can be enforced at the optien of aggrieved party.
(2] Can be enforced at the option of both the parties.
(3) Can not be enforced in a court of Law.

(4] Courts prohibit.

OF SFRTelg dfe=r 98 & S B

1) aﬁrauw%ﬁmwnaﬁaﬂmmﬁ%l
(2) ﬂﬁf%ﬁlﬁ%ﬁﬁqwmﬁaaﬁmﬂ'ﬁﬁ%l
(3) = F wafda @t o wgft B

(4] ~EwE g AR o o &

In case of void agreements the collateral agreements are ;

(1) Void (2) Voidable

(3) WValid (4) Unenforceable
THA w0 F 9@ F 308 g qufias s -

(1) = 8= B (2) EEiig 813 ¥
3) Rfima= 23 & (4) oTHadig B B

Which one of the following statements is not cotrect as regards to
bailment ?

(1) Delivery of goods for same purpose.

{2} Return of goods after the purpose is accomplished.
(3) Goods must be movable property. -

(4) The owner maintains the control over property.

9 P.T.O,
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23.

24.

ﬁmﬁfﬁaﬂﬁﬁ?-mmmmﬁm%ﬁﬂﬂﬁqﬁ%?
(1} fpedl Seew B fom W @1 AREH

(2) aﬁmgﬂéﬁtﬂqﬁfﬁrgﬂ:ﬁm
{33%%@%%2{@ '

(4] waﬁraarﬁrmq?-mﬁziﬂwm%

Uniess the Articles provide for a large number, the quorum for a
general meeting [or a public limited company is :

(1) 1/3 of the members

{2) Five members personally present

(3) Two members

{4) Seven members
aaazﬁﬁamﬁaﬁﬁ-mﬂwaﬁrmﬂﬁaa, U HEAIE
e el A @ m TRt ¥

(1) d=egt @ 1/3 |

(@) 5 FewEt & s IR e

(3)y 293¥:

(4) 7 9 ¥

Which one of the following required ordinary resolution ?
(1) To change the name of the company

(2} To alter the articles of association

(3) To reduce the share capital

(4) To declare dividends

Prefefad & & Fras faT @ Ty TEsds & 7
(1) &t & A % gited & R

2 & F erariadt 7§ aRada & R
(3) HAT #H Stede g # e
(4) HR T AT SifeT HwE & [

10
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A "statement in lieu of prospectus” must be filed before the allotment
of the shares with the Registrar of Companies by :

(1} A private company
(2) A guarantee company
(3) A public company which issues the prospectus to the public

{4} A public company which does not issue the prospectus tc the
public.

“OiErFed & S # 1" = HYEE & W 9| i §
-Hrﬂ'ﬁaﬁlgén@ﬁﬁ?jmw-maw%:
(1) ugde 91 ary
(2) MITE FIA ERT
(3} %mﬁaqﬁﬁmmﬁramﬁﬁﬁamaﬁmﬁmmhm?ﬁ
|

(4] %@m%ar{xﬁﬁswﬂm@mwﬂaﬁ
E > |

Dividend can be declared out of :

(1) Capital Reserve

(2) Revaluation Reserve

{3) Debenture Redemption reserve

(4) Earlier vears reserve created out of profits and brought forward

HIN GifST Bew oar " B

(1) gt d=a § 9§

(2) Fiwaie= o= § @

(3) =HUTH SMyq w9y 7 J .

(8) I a9 & A A st B B g e B Y wem A

27. The charler of a company is its

(1) Articles of Association

(2) Prospectus

(3) Statement in lieu of prospectus
(4) Memorandum of Association

11 P.T.O.
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28.

29.

30.

HOA F =JE g, 39S -

(1) F9R & FAAIH

(2) wfEETr o

(3) afageer 9= & SOy FEver 9
(4) w F arE der FEE

A company may issue shares :

(1) At discount " (2) At premium

(3) At par (4) Any of the above

wh el & siel @ Rrirr BRar ST s

(1) 92 9 (2) TWfEE 9T

(3) @I W (4;3u'aaaﬁ%faﬁﬁ:rtﬁr
Allotment of shares is made by :

(1) Registrar to the issue (2) Share Transfer agent

(3] Board of Directors -~ (4) Fund Managers

Sight Hr awEeA FRAT TN HeRT & ° .

(1) Frima g s o (2) SisT SF=TLer AT W
(3} Frisms HW29 & (4} Y TR aa

The minimum number of members in a private company and public
company are :

{1} Three and seven respectively (2} Twao and seven respectively
(3) Two and nine respectively (4) None of the above

o ursde oI ws gftwe FOE S & e aEeEl St gaas '
gt =nfeq -

(1) A o9 o ad 2y wEen a@t ofR E"m
(3) e &Y Al A (a) Sude § @ g T

12
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33,
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Factoring means ......

{1} Collecting the receivables and remitting to the seller.

{2) Purchasing and/or administering the recewablcs of a concern
(3) Financing against bills receivables

{4} Financing invoices without recourse

FFITET - A &

(1} 9T Qs &A1 3 Bsar +1 gfgsn

(2 HEAT B GG HY F BT AT /TEET GUTHT T
B) T B & Rfew (RAwfas) s yarmr s

(4] HroTHt & et fasr (Fedom) T = s

Who is the custodian of monetary reserves in India ?

{1) RBI (2) SBI
(3) NABARD (4) IFC

v § AfEw By & e S g7

(1) T & o (2) w9 &t o
(3) =TEmE (4) M8 oF oG

A rate at which banks borrow rupees from the RBI and reduction in it
will help banks to get more money at a cheaper rate :

(1) Liquidity rate (2) Discount rate
(3) Repo rate (4) CRR

ﬁﬂﬂmﬁﬁmﬁaﬁ%m%m%ﬁtaﬁﬁm%%aﬁ
FEFE el B &% 9T arftes g O §

(1) OIFar &3 2) s;Ter &Y

(3) Igt 8¢ (4 e FAWo Ao

13 P.T.O.
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34.

35.

36.

37.

Land Development Bank was started first of all in :

(1) Delha (2) Chennai (3] Mumbai (4) Gurgaon
ﬁmﬂﬁmﬁﬁaﬁm%wﬁqﬁaﬁmgmm?

() st (2) % (3) TE (4) TSI
Whe was First Governor of Reserve Bank of India ?

(1) A.B.A. Smith (2) K.A. Narasimham

(3) V.K.Malhotra (4] A.K Vadia

area Rl &% & ueH TEAl B g7

(1) Todtotlo THY (2) HoUo THEH

(3) dlodo HFEET (4] ToFio FAINER

EXIM Bank is owned by :

(1) Financial Institutions

(2) Gevernment of India and RBI jointly

(3) RBI and selected commercial Banks jointly
(4} Fully owned by Government of India.

s rata &« @ wnwa e ¥

) facda d@end | . ‘

(2) WWWWW%W@Q

(3) aredin o ¥ ofic gi aer S HgE B9
(4) ¥R THT F IO @i

The first development financial instituticn of India was :

(1} ICICI (2) Ut (3} 1FCi (4) 1DBI
qa #1 gee B i denr oo

) SR otflodEotioaEo (2) HoFoIMEo

(3) FEouhmoHlo3Re (4) STEcElodlodEo

14
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39.

40.

41.
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Which of the rate is not determined by RBI ?

(1) Bank Rate (2) PLR (3} SLR {4) CRR
mﬁwﬁﬁﬂ%mﬁ?—mﬂﬁmﬁaﬁﬁmw%?
(1) ¥% 7T ' 2) o e

(3] TH U A (4) & 3N a7

Which fiancial body prepared the draft of the IFC 2

{1} World Bank (2) IMF (3) RBI (4) ADB
- e ger & HE UG F Uvg-ag F N9 By ?
(1) fasg &= (2) 3T .uH.UE.

(3) 3T & e 4] v g S

Which of the following bodies are of IMF 2

(1) Managing Director (2) Alternate Governor

(3] Board of Governors (4] Executive Board

Fry & & Fra-dt deendt B og.os. 5 T 7

(1) ==+ Fdues (2) THYE 1T

(3) AT T yu=w (4} BRI Toee

If all the banks it an economy are nationalised and converted into a
monopoly bank, the total deposits :

(1) Will be Zero

(2) Will decrease

(3) Will increase

(4) Will neither increase nor decrease

ﬂﬁwewﬂaamﬂﬂﬁﬁﬂwgiaﬁahhﬂﬂﬁ:w%_
7 aEe oNd ar F oE

(1) = & SIENm (2) &= TR

(3) =g =R (4} = =@, F gm

18 P.T.0.
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42. To join IFC a cauntry must first be the member of :
(1) ADB (2) 1BRD (3] IDA (4) IMF

o 2 & od.aE. §F whwimm @Y & o L.w@ weE @
et & -

(1) T EA (2) g & AT A
(3) =mE BT (4} S TH IF

43. Which bank has introduced " Pre-paid card" first ?
(1) OBC (2) Corporation Bank
(3) SBI (4) BOB.
"gﬂmm&‘”mﬁqﬁﬁm%%mﬂm?
(1) & &H & (2) FBRURIE FF
(3) TH &t AR @) #r o @

44. Which one of the following statements is incorrect ?
(1) The IFCI is the first Universal Bank in India
(2) NSDL is the institute, which is built by IDBI
(3) LIC was founded in 1956
(4) Insurance is the collective bearing of risk

frer & & SF-61 0% HU STEA & 7

(1) o um & od wrew F muw A S 8

@) U oE % oF ae wen ¥, R@ o O o ¥ T @
(3) o e P @ enedr 1956 H BN A

(4) domr ARgw T wHReE a8 3

48, Associate institutions of IBRD are :
(1} IMF and ADB (2) DA

(3) IFC. . {4) IDA and IFC

16
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e & AT N T gEE T B
(1) SR s AT H (2 s
(3 oTE 9% 4) g € ¢ R 9 o |

46. The average of three numbers is 135. The largest number is 180 and

47,

the difference of the other two in 25. The smallest number is :

&9 et = ofraT 135 ¥ w=® 9€ g 180 2T 21 3 & IR
25 % | BIEr T ®

(1) 130 (2) 125 (3} 120 - (4] 100

The average marks in English subject of a class of 24 students is 56.
If the marks of three students were miss read as 44,45 and 61 of the
actual marks 48,59 and 67 respectively, then what would be the correct

average ?

TE HET F 24 BIET @ otieh R @ ofima 56 ) afy W smt
& Wkl ol HAI: 48,59 U 67 o SIE HH: 44,45 AT 61 T
ggT Ty &, & @ g ofrda &= e v

(1) 56 (2) o7 (3) 58 (4) 359

Which one of the following is correctly matched ?
(1) Data - A collection of objects
{(2) Mode - A well defined measure

(3] Range - Difference between the largest and the smallest items
of a data set.

{(4) Quartile Deviation - A best measure of dispersion.

17 P.T.0.
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(1) =TeT - Ig9dl H §98
(2) HIE- U% = a¥E gfeniga Aams

(3) ¥ - U STET HUE T AYFETH UF gAAH B HET W
(4) =guls ReeH - S w oF 599 TS IuE

49. Population in millions :
City Total Population Male Population

A 12 6.5
B 15 7.2
& 17 9.0
D 19 9.9
E 22 10.8
What is the average female population in million ?
(1) 8.32 (2) 8.23 (3] 8.68 4) B8.86

ATHEAT AR H
BT F[HE SHEEAT  YHT H wHEEAr

A 12 6.5

T 15 7.2

q 17 9.0

° 19 9.9

3 22 - 10.8
Hreer At STEET (wrm f) Far ¥ 7

(1) 8.32 2) 8.23 3] 8.68 (4) 8.86

18
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Person Salary in ¥ lakhs

A 8.5
B 1.5
C 12.8
D 5.9
E 10.5

What is the difference (in T lakhs) between the average salary and
the lowest salary ?

(1} 2.65 (2 4.2 (3) 3.56 (4} 3.65
=t oo ¥ A

N 8.5

g 7.6

a 12.8

ES 5.4

q 10.5
ﬂ:ﬂmaﬁﬂaﬂ'{aﬁﬂﬁaﬂaﬁ(ﬁmﬁcﬁ}wm%?
(1) 2.65 2) 4.2 (3) 3.56 {4) 3.65

The average marks obtained by Kapil in seven subject are 75. If after
re-evaluation average marks in all the seven subject changed to 82.
How many marks were increased overall ?

Hﬁﬁlﬂﬂﬂﬁﬁﬁﬁ&ﬁ'ﬂﬁﬁ?&%lﬁgﬁﬁqﬁﬁﬁmﬂﬁﬁ
P a7 ofrea i qfvaRia erex 82 B S B | W Rt & e
frad 3% 98 |

(1) 57 (2} 55 (3) 51 (4) 49

19 P.T.0.
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52,

Eal

The following given the data regarding accidents occurring during a
certain period :
Number of accidents Frequency
19
22
31
9

Lo & : I % T N Qe

2
On how many days three or less accidents occurred ?
(1} 14 (2} 41 (3) 62 4) 72

1 19
2 22
3 31
4 9
5 3
6

2
Eﬁ?mwﬁmg&m%ﬁ%ﬁﬁ%gﬁ?
(1) 14 (2) 41 (3] 62 (4] 72

The following table given the distribution of students according to
the marks obtained in a paper : :

Marks Number of students
Below 10 15

Below 20 38

Below 30 65

Below 40 84

Below 50 100

What is the number of students getting 30 or more than 30 marks ?

(1) 35 2} 43 (3) 50 (4) 184

20
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gen'&tﬁﬁ’ A gTEih Hi S1H Frawor w9l M= & T

Hp ' sEl FH HEar

109 &9 15

20 @ & 38

309 FH 65

40 ¥ FH 84

509 &9 100

30 T 30 & 3iftres afm 9 av BT S HeEET §49r B oo
(1) 35 (2) 43 (3) 50 (4) 184

The arithmetic mean and harmonic mean are 64 and 49 respectively.
The geometric mean is !

AT T UE BN S AT ASE 64 IfIT 49 B IeTe
R BN

(1) 60.0 (2) 56.5 (3) 56.0 (4) 55.0

Which of the following is the mathematical property of mean ?
(1) The sum of deviation from mean is zero

(2) It has the maximum sampling stability

(3) Its computation is bas~d on all the observation

(4) [t is simple to understand

s # |/ A wreg A oty faser (sredt) ® 7
(1) #arm § Rraes T amm s &
(2) uE AfirsaA uRrest Rerwar e B
(3) @it witrael & MU 9T FHH O FH SIRA B

(4) I8 99HA ¥ e aar @

21 P.T.O.
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56.

57.

Which of the following is a unit free number ?

(1) Standard deviation (2) Variance

(3) Mean dewviation (4) Coefficient of variation
Prefafaa § & @9 gid g w8 7

(1) wT=eh o= (2) 9=

(3) #red fe=re (4) IOTE @ aftecds

Find the coefficient of variation, if the sum of squares of the deviation
of 100 observations taken from mean 50 is 2500 :

100 gfdest &1 wrer 50 & REem $ =t w A 2500 B, @1 oS
& gftads = s@ ®4 ¢

(1) 50 2] 25 (3} 10  (4) 05

% = 10, o = 3.5. All the observations increased b'_v 5 would give the
result :

x-1oan35aﬁﬂvﬁnﬁwﬁaﬁ5wf&mm%ﬁraﬂtﬁr
9o 2R

(1) % =10,0=8.5 2} % =10,06=3.5
@) %=1506=35 4 % =15 c=85
The range includes :

(1) 100% of the items (2) 50% of the items
(3] 25% of the items (4) 10% of the items
= 7 uiefa 8

{1} oTETHL F 100% (2) WA T 50%
(3] STEeEdt W 25% - (4) EEHA! | 10%
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The standard deviation of a set of 50 iterﬁs is 10, Find the standard
deviation if each item is multiplied by 2 :

50 3TgeHl B HT H IHH @A9ad 10 &1 Y ToF Ngeq B 2 §
T HL A AE e e o

(1) 5 (2) 10 (3) 12 4) 20

When the demand curve is rectangular hyperbola, is represents ?
(1) Unit elasticity of demand (2) Perfectly inelastic demand

(3) Perfectly elastic demand (4) Relatively elastic demand

T H{T g AR gy 8, oY goer ot ®

(1) Iz A== AT (2) goie: aefrEETT Hi
(3) gof: drEER | (4] GUH FEE =
Cobweb theorem is an example of :

(1} Static equilibrium {2) Partial equilibrium
{3] General equilibrium (4) Dynamic equilibrium
FEAE A9 IAET ¥

(1) w&feen &g & (2) ST G &

(3) @MW E/T O (4) "t |

Marginal utility is equal to :

(1) Total utility minus average utility

(2) Addition to total utility

(3) Total utility divided by number of units conserved
(4) Total utility plus average utility

23 P.T.O.
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65,

Hmr IuAter swET A #

(1) e -I9FEr Jg=E shaa Iggiten

(2) /Er Iyt ¥ gix

(3] FHH ITAFET F IUART A T AwgST A dEAwm § 9w
(4 T SuAEr wra ot Suhif :

Consumer's surplus is highest in the case of :

(1) Necessities (2) Comforts

{3) Luxuries (4) None of the above
IO A T=9a qEifw Bkl B -

(1) avaE Fagelt # (2) ARHTS Fegadt &

(3) Frenfaer awgait # (4) Iqdwer ¥ F B
When the demand curve is vertical, is represents ?

(1) Perfectly elastic demand (2) Highly elastic demand

(3) Unit elastic demand (4) Perfectly inelastic demand

T AT g% wWd YEr &, 8 g% =Ea w5 o
(1) gefaar S=eEre |5 (2) i MeEr wig
(3) P # =TT @reE =5 (4)  Yefear ¥WraER |

An upword shift of the preduction possibility curve indicates :
(1) Over full employment (2} Over production
{3) Economic growth (4) Inflation
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68.

69.
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STTET |IEAT TF ) FHIC B AT SR FFT hedT B

(1) ferget Jsem 2) Y S

(3) oNfEF s (4] Iy

The Engel curve for & giffin good is :

(1) Negatively sloped (2) Positively sloped
(3) Hoerizontally parallel [4) Vertical

i aged & ™R O am S B

(1) AT BT arell {2) 9FRHF T qTN
(3) BT ey $ AT (@) TrEE

An indifference curve is :
(1) Concave to the origin (2} Convex to the origin

(3) Vertical (4) Harizontal

O T g% BR 8 |
(1) 79 g & ==y (2) I &g $ =T
(3) I= - (4) B

What the price of an 'inferior good' falls ?

(1) Income effect is negative while substitution effect is positive

(2) Income effect is positive while be substitution effect in negative
(3) Both income and substitution effects are postitive

{4) Both income and substitution effects are negative

25 P.T.O.
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70.

71.

m@ﬁqwﬂaﬁﬂﬁaﬁl‘qﬁm%ﬁr:
(1) ST T FOETE BT & wafe Sieeas SHE e o B
(2) A T AEE ST B et ofead SNE SO R 6
(3) o T SRS gEIE a e A #
(@) oI T ufEeIgE gwE SN sTEs B #

Which of the following is the basic assumptions of cardinal utility
appreach ?

{1) Utility is a measurable and quantitiable entity

(2) Marginal utility of money changes with changes in real income

(3) Utility derived from various goods are inter dependence

(4] One cannot use introspective method in judguing the behaviour
of marginal utility.

TS SYditaT R e AT @y ® 7

(1) SgDfEr "oy wun gfEeEg 99 8

(2) "E # dm IR anafEs o A oftaddl & Wy
qftafda de &

(3) RfdF aegell 4 = ITAifed st gl B

(4) o I & sger & gawa § {9 Ao 9w
= IUGPT §Ha el B

A market in which differentiated products are sold is termed as ?

(1) Perfect competition (2) Imperfect competition

{2] Monopoliotic competition (4) Oligopoly

26
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R I Brad e awgd < ot & weart B
(1) get afe=fra (2) 7gef ferdifrer
(3) CEitERE ST (4) AR

Charging difference price in different markets is cailed -
(1) price discrimination

(2) perfect price discrimination

(3} second degree price discrimination

(4} third degree price discrimination

= &t ® 1 e ager e ssemar
(1) Fa REreEismor

(2) oot g Aadmn

(3) fadtg 3ft = Fa Ao

(4] geira Ao H1 pmg i

A demand curve, which is parallel to the horizontal axis (showing
quantity}, has price elasticity equal to :

(1) Zero (2] Infinicty

(3} Less than one (4] One
?ﬁw,ﬁﬁﬁaw%w%(waﬁﬁ%},aﬁ%aﬁa
(1) = (2) S

(3) Toe § HH 4 T

Which of the foliowing is not relevance in case of Sweezi's oligopoly
model ?

(1} A price cut by a firm is followed by the price cut by the rival firm
{2) Price hike is not followed by the rival firms

(3) Firms do not react to price change made by one of the firms

(4) Firms react to all kinds of price changes made by the rival.

27 P.T.O.
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75'

76.

=Hf B orqiue dew § fesw § ¥ -9 §a T8 2 7
(1) m B ET dEd o SERN @ wioeqdi ®H ar SIeeEr S
2y FEg 7 Sgad S afteedt o g [ v

(3) Bt u T ZRr B TR Sia oftgds wR et R s | e
(4) Sl &Ry w9 v 3 Hma IRaH ) FA e SRR g

An economic region of production consists of :

(1) The positively sloped portions of all isoquants
{2} The negatively sioped portions of all isoquants
(3) The middle of all isoquants

(4) The highest peoint of all isoquants

IqrEd & el &= # afaie ®
(1) 9N F9-IE THf & 4ARHE Gad AT
2) TH GH-IE TR B ROTRHE GO HET
(3) @M HW-I9E gl h A AT
(4) ©df A9-IWE W B Ie=eH g

In case of profit prior to incorporation the Gross profit is apportioned

between pre-incorporation and post-incorporation periods on the basis
of :

(1) Respective sales ratio

(2) Respective purchase ratio

(3) Respective expenses ratio

(4) Respective Return inward and Return outward ratio

HAMNE & 94 5 THa AW S TG 99 T oY 9v |/HiEes
& dre P s ¥ R omar & 7

(1) Rerg s1uE o
(2) &9 A79E |
(3) =9 AU H

(4) Prera aradt ofiT w9 ared) srqaa H

28
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Loss Prior to incorporation Accout is shown under :
(1] Miscellanecus expenditure in profit and loss account
(2) Miscellaneous expenditure on the asset side of the Balance sheet.

(3) Miscellaneous expenditure on the asset side of the Balance sheet
to the extent not written off

(4} Miscellaneous expenditure as in the putnote below the Balance
sheet.

qAfEE & gd 3t sy B Reas ofevia Ramar smr &
(1) wra-wy @ ¥ fafy ey

(2) onfe faed & wufer gwr # Ry ==

(3) oriEfs Tored & wuf uw & syofeferm &1 9

@) onifs Red & i o e $ =y ¥ Rawn

[ssue of Bonous shares is regulated under :

(1) Section 81 of the companies Act

{2) According to the provisions of SEB] Guidelines

(3) According to the provissions of Articles of Asscoation

(4] According to the proviscns of Articles of Association and SEBI
Guidelines

g9 39T & Frmm & PrafEe e s B

(1) =T T & aw 813 oTgER

2 FH aEw ol Ram P & miResEt § sgan

(@) umE Sfafrw ot & sgE

(4) urde FHaftaw i SEBI Bem MRy & wifay=t & erEr

Bonous shares are issued :

(1} Fullfilment of minimum subscription Amount

{2} When securities premium is collected in cash only

{3} When the value of current assets exceed the amount of the capital
(4} When paid up value of shares exceed the market value

29 P.T.Q.
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80.

81.

r1e1 3w Frivg 89 ¥

(1) =geH fEE afdr @ gff &g

@) =R TR O FHeer 8 X

(3) w9 awg G 1 oged {on & U 8

(4) TS g B GHA Yod SR Hed § GE

The final account of company is prepared in accordance with :

(1) Section 210 {(2) Section 212

(3) Section 218 (4) Section 220
udl & sifem @ fFg oo & e S A 8 7
(1) =7 210 (2) =IO 212

(3) €T 218 (4) &rw 220

Window Dressing refers to :

(1) Showing pesition better than what actually it is
(2) Showing position worse than what actually it is
[3) Showing fictitions assets in the Balahce sheet

(4) Providing depreciaiion by way of deduction from the asset
concerned

g 2RfT fredy oefem & 2

(1) arafas Rafy | o=t Rafy Rarr

(2) AT Rufd B @ REr

(3] ST d@uftd >l AfeF Frged § Rarn

(4) we&ttm Hufew & = {Depreciation) &l SETAT

30
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82. When the divident exceeds 20% of the paid up capital, the amount to

83,

84,

be transferred to reserves shall not be less than -

W%ﬁ%zo%@mwﬁm@%wmiﬁr%ﬁ%wﬁfm

%ﬂﬁﬂ%&ﬁﬁtﬁrmﬁmﬁaaﬁmﬁmﬁm
(1) 15% (2] 12% 3) 10% (4) 20%
The dividend per share in a company is Rs. 2/- Earning per share is

Rs. 5/- and the market value of share is Rs. 25/- what will be the
yeild ?

rzzﬁa#w?ﬁﬁ‘mﬂfmnﬁrawzﬁ.,nﬁmrmtﬁsaErﬁnaisﬁam

AN {eW 25 %. B | IMTEEAT Far Enyp 7
(1) 20% (2) 12.5%  (3) 8% (4) 25%

At the time of forfeiture of shares, share capital is debited with :
(1) Nominal value of shares

{2] Paidup value of shares

(3) Shares for which can money have already received

(4)  Value of shares for which can money have not received

(1) 9 8= 4eq o7

{2) HS0 T T
|T3].E?ﬁafsrﬁi=rmaﬁ%mﬂf§rqgﬁﬁﬁﬁﬂ?ﬁr€r
) W Sy R aT afe o an e g

31 P.T.O.
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86.

87.

Find out the item which is not recorded in profit and loss .&ppmpriat‘mﬁ
Account of Company ?

(1) Development Rebate Reserve {2) Staff Gratuity Fund

(3) Dividend equlisation Fund (4) Profit of current year
B TR YA B S-S0 Appropriation (FFEIST) @ # <t
Rerd =it ?

(1) Saegiz gE €93 A9 (2) wdEr I=gEr Ay

(3]  STHIET AR B (4) =T AV W ATH

State the section which deals with the payment of remuneration to

the Directors of the Company ?
(1) Section 307 {2) Section 309

(3) Section 311 {4) Section 312

M%ﬁhﬁﬁmﬁmwmﬁfﬂwﬂ%?
(1) & 307 (2) =TT 309

(3) =TT 311 .. {4) 9rw 312

The remuneration of the manager in accordence with the provisions

of section 387 of the companies Act 1956 shall not exceed :
(1) 8% of the net profit - (2) 7% of the net profit
(3) 5% of the net profit (4] 6% of the net profit
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According to section 205 (2A) of companies Act, is proposed dividend
is mare than 12.5% but not mare than 15% of the paidup capital
percentage of profit to be transferred to reserves is to be :

(1) 2.5% (2) 5.0% 3) 7.5% (4) 10.0%

Maﬁéﬁqwqmzosiw%aﬂjawqﬁmﬁawﬁmw
iﬁﬂﬂiﬂ.ﬁ%ﬂmﬁaﬁﬁ'ls%ﬁﬁﬁrﬁ,ﬁﬁwmmﬂ
Yo & gwmaia so ?

(1) 2.5 "fergm (2) 5.0 Qe

{3) 7.5 airwrT (4) 10.0 ufersrer

Unclaimed dividend is shown on the liability side of Balance sheet
under the heading :

(1) Reserves and surplus {2} Provisions

(3] Current liabilities (4) Miscellaneous items

(1) @9 o\ dey # (2) mfeen=t &
(3) =g =i (4) fafes o2

33 P.T.O.
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90.

91.

91.

A company bought Assets worth Rs. 3,60,000/- and in lieu issued
debentures of Rs. 100/- each at a discount of 10% . The number of

debentures issued will be :

wﬂ%s,eo.oocﬁ.ﬁmmﬁmmm 100 ©.
mﬁlomﬁa@mwﬁﬁﬁmlﬁﬁmmﬁ
e st

(1) 3,960 (2) 3,600 (3) 3,000 (4) 4,000

If a share capital Rs. 10/- issued at discount of 10% on which full
amount has been called up is forfeited for non-payment of final call

Rs. 2/-. The share capital Account should be debited by :

(1) Rs.8/- (2 Rs.9/- {3} Rs 10/~ (4) Rs.11/-
105, 9 F TF S Iumﬂ%mﬁﬁﬁﬁﬁfmw%aﬁt
aﬁﬁﬁmgﬂ%%luﬁﬂ%ﬂmﬁzﬁ.aﬁt@mw
ﬂmﬂﬁmﬂﬁmmmﬁﬁmgpﬁuﬁﬁ%ﬁﬁw
AT -

{1y BE. (2) 9%. 3) 10%. 4) 11%.

Which one ‘of the following in net a method of costing ?
(1} Marginal costing (2) Job costing

{3) Process costing (4} Operating costing

34
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hﬂﬁﬁﬁaméahﬁqﬁqa%aﬁ%?

(1) =T @ (2) sSiftg @i

(3) sfRarT AT t (4) HEEE ARG
Which one of the following is not a technique of costing ?
{1} Marginal costing (2) Standard costing
(3) Muitiple costing (4) Absorption costing
ﬁwﬂ'ﬁqﬁﬂw%ﬁ'ﬁmaﬁﬁwﬁiﬁw%?

(1) €= @ (2) HFE WFTE

(3) SEHMET TrE (4) ST AR

If maximum fead time is 15 days and maximum daily consumption of
materials is 500 units, Re-order level of stock is :

(1) 750 units (2) 7500 units
(3) 600 units (4] 9000 units

aﬁﬂﬁmwamﬁmulsﬁaﬁ%aﬁfmaﬂemaq%ﬁm
Wsmm%%,mmﬁam%aam:

(1) 750 geTgEl (2) - 7500 geERrEEY
(3) 600 FHTEdf (4) 9000 whrEEf

Earnings of the labour =

. .
[{Hours workedxHourly Rate) Yy (Time Saved) *Hourly Rate] in

under: _
(1} Rowar Scheme (2] Halsey -weir scheme
(3] Halsey scheme (4) None of the above

35 P.T.0.
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ﬁaga%mﬁ=(mmxnﬁm€rﬁ)+% (Fraa wg) x SR

guer &¥) e # -
(1) daT =HH @) FTew - TG
(3) B = @) Iodw & & B

96. Overhead is the sum of
(1) Direct material and Direct labour and Direct expenses
(2) Direct cost and Indirect cost
(3) Indirect material and Indirect Labour and Indirect expenses
(4} Standard cost and Marginal cost and Process cost

ey # Prgd d9ntt @ Suiterd wed & 7

() s wEnl S gem Hergdl ofT W =

(2) wedE QF ST W

(3) aTqee G ot ot el oftT T ST
(4) e o b dmr @wa S oty wrT

97. There are three elements of cost they are :
(1) Direct Material, Direct Labour and Direct expenses
(2) Indirect Material, Indirect Labour and Indirect Expenses
(3) Material, Labour and Overhead
(4) Material, Labour and Expeses
Ar A A T e ¥, 7 R
(1) T |, s Tl Y owE =
(2) ST g, AT Fegd i araeRr =g
@) wrnh, wogd ol Suftem
(4) @rEl, Fegl ot =™

36
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98. Previous year for the Assessment year 2014-15 is .

FT Prafeor af 2014-15 1 gy 97 @ -
(1) 2012-13 (2) 2013-14
(3 2010-11 (4) 2009-10

Mr. A was present in India during the previous year 2013-14 for 59
days. He was also present in India for 330 days during the preceding
three previous years. For the previous year 2013-14 he is :

(1} Resident and Ordinarily Resident in India

(2) Resident but Not-ordinarily Resident in India
(3) Non-Resident

(4) Non of the above

Fﬂrcqnﬁaﬁ'zms-mﬁsgﬁa‘r%ﬁmwﬂmﬁ%laﬁw
3 auf ﬂmtamoﬁw‘f%ﬁwtﬁ:mﬁuam%%mqaﬁzms-

100. Additional Depreciation is allowed on :

(1) 0Old office eguipment

(2) New factory Building

(3) All plant and Machineries

(4) New plant and Machineries mean for pr;::duction purpose

37 P.T.O.
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e B 3T B

(1) g:rﬁmfau%atrcﬁrﬂrﬂ

(2) & TG AL W

3y @i @ie gg wdEd 9

(4) Wmﬂaﬁmﬁaﬁaﬁmmmﬁaﬁw

101. Gains from sale of furniture is treated as long-term capital Gains, if
period of nolding :

(1) is 45 menths (2) is more than 12 months

(3) exceeds 36 months {4) not exceeds 36 months

mﬁm%ﬁaﬁmmaﬁaﬁd%ﬂawm%mﬁﬁt
Mﬁﬂ%m:

(1) 45¥E & (2) 12 HTE & T ¥

(3) 36 98 ¥ wUET ¥ (4) 36WE & var E B
102.The alternative to cash basis of Accounting is called ------- basis of

Accounting :

(1) Receipt {2y Due

(3) Credit (4) Accrual

% .

(1) wif 20 9

(3) afEe | @ s

-
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103.The -~------ records all daily transactions of a business in the order in -

which they occur. _

{1} Ledger | (2) Account

(3) Journal (4) Trial Balance

O AR & el & ad i ), P s T3 am e & ferar
T B

(1) e (2) T

(3) Io=EET (4) TATE ’

104. Recording the transactions and events as and when they occur and
classifying them into suitable account heading is the subject matter

) —
(1) Financial Accounting (2) Book - keeping
(3} Cost Accounting {4) Management Accounting
%ﬂ%ﬂqﬂaﬂaﬂﬂs{,aﬂ&ﬁ%%é@mweﬁﬁmﬁﬁ
CRIC T T FI fawg areh dar &)
(1) fosfr Sraiems (2) RO
{3) T AGHT (4) SEuHE AgiwT

108, Revenue in generally recognised at the point of sale. Which concept
is applied ?
(1) Consistency (2) Marketing
(3) Realisation (4) Cost

W#WW:W&@W%%%—#W
| BeH B 7

(1} P (2) fagems

(3] Tt (4} &

39 ' P.T.O.
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106. Accenting of a small calculator as an expense and not as an asset in

due to ~-=-—----- convention,

(1) Materiality (2) Disclosure

(3) Constantly (4) Conservatism
wﬁwwm%mm%mﬁm ......... qiRare
& afmta Rpar s 8

(1) wifEaEaT (2) TSR

13) e (4)

107.As per dual aspect concept !
{1) Assets = Liabilities - Captial
{2) Assets + Liabilities = Captial
[3) Assets + Capital = Liabilities
(4) Assets = Capital + Liabilities

Farqer S4qaoN & HATHN :
(1) woferdl = S - IO
(2) dafedt + afae = OoH
(3) duferaf + 9oft = =it
4) wofeEt = 9ot + TfES

108. Cost of goods purchased for resale is an example of :
(1) Defered Revenue Expenditure
(2) Revenue Expenditure
(3) Defered Capital Expenditure
{4} Capital Expenditure
gt & Rng o @ T AT A AT L T WE IETET ¥ |
(1) T AEH =29
(2) A =AY
13 e goirE =@y
(4) St =

40
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109.Rs. 5,000 spent on replacement of worn out part of a machine mill be

110.

111.

charged as :

(1] Defered Capital Expenditiure
(2) Capital Expenditure

(3) Revenue Expenditure

(4) Defered Revenue Expenditure

T "ef & U g9 & S3@q 9¢ BT T 5000 . W F9.... ..
.3 E # et AT |

(1) wFe gofra =9 (2) o o

(3) AT =9 (4) Uffra SFE =9

Amount spent on renewal of a licence is :
{1} an asset ‘

(2) a defered revenue expenditure

(3] a revenue expenditure

{(4) a capital expenditure

UF AEST B T 9T =E H O 990 2 o

(1) = wafe (2} % wWig Irm =g

(3) UFH SFTH =g (4) = YT =g

Which is the accounting concept that requires the practice of credting
closing stock to the trading account ?

(1) Matching (2) Cost

(3) Going concern (4) Realisation

a8 PH-H AiHT RN & R wTER JHfem e @ g
UHa— § e frr s AT B 7

(1) goeA (2) @
(3) HOq =FGE (4) TG

41 P.T.O.
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112. The economic factors causing depreciation are :

(1) Wear and tear (2] Passage of time
(3) Depletion (4} Obsolescence
BT I X Al AfE T € o
(1) FEEmE (2) HHEFHEA
(3) TeritsToT (4) TR

113. Accumulated depreciation is an example of :
{1} An expense (2) A contra account
(3} An unrecorded revenue (4) A liability
(1) =1F (2) fawg @mEr
(3) faiREa ™ (4)

114. The appropriate method of depreciation to be adopted in case of
livestock is :

(1) Retirement method (2] Depletion method
(3) Appraisal method (4} Inventory method
St & w9y o gty @ & g By oL R
(1) gl fafy (2) RfFTerzor fafy
(3) HeaFwioer iy (4) dafer g=h fafy

115, Sales are equal 10 :
(1) Cost of geods sold + Gross profit
{2} Net profit + Cost of goods sold
{3} Cost of goods seld - Gross profit
{4} Gross prolit - cost of goods sold

42
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e sTET B ®

(1) Fepm awgsit & @ra + gaa are
(2) 9= W + f@eRa aegaft & are
(3) feepla axgadt it IFa - G @y
(4) T a9 - RBeRg awgsit & e

116. Goods given as sample should be credited to :

(I} Purchases Account {2) Sales Account

{3) Purchase Returns Account (4} Advertisement Account

T & w9 F & I Al aRgat S #few fear s L @t
7 .

{1 =49 (2) faspg

(3) A araHt (4) TR

117. Which one of the following is correct ?
(1) Gross profit + purchases + sales = Net Profit

(2) Gross profit + Purchases + Administration and other Expenses =
Net Profit

{(3) Gross profit - Administration and selling Expenses = Net Profit

(4] Gross Profit + Sales + Administration and other Expenses = Net
Profit

frfefaa & & #=-ar adl & 2

(1) o9& @rH + 9 + [T - g @

(2) ¥H 9 + FHI + UAHGTH UF I =Y = P WA
(3) @Rl TN - UIMER TF ERY &9 = 9rm @

(4) FFHT A + OpT + ysEHE OF o =Y = g @y

43 P.T.0.
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118. Royalty Account is :

(1) Personal Account (2) Real Account
(3) Nominal Account (4) P& L Account
HfEBT - g6 @ E

(1) SafEFRT e (2) At @
(3) AR @ (4) wTHE-SIfT =

119. Shartworking Reserve Account Opened in :
(1) Lessor's Books {2) Lessee's Books
(3] Sub Lessee's Books (4) Lessor's and Lessee's Books

g Hug wrAr @en A $

(1) gearern @ gy J

(2) UEeEX W gETehl &

(3] SY-YIAT # g H

(4) TSR quT RN @ gEl A7

120. Shortworking recoverable in futrure is shown in the:
(1) Dr. side of Profit & Loss A/c
(2) Cr. side of Profit & Loss A/c
(3) Cr, side of Trading A/c
(4) Assets side of Balance Sheet

R ¥ el Ay wgHE iR @ g SE R oo
(1} wrH-si @ 3 e g #
(2) @rg-EF T P BiEe ow A
@) =URE @A F HET g8 7

4) Fred & wafer oo &
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121. Nazarana Payment is :
(1) Capital Expenditure
(2) Reveneue Expenditure
(3) Deferred Revenue Expenditure
{4) None cf these

TS A B
(1) Yo == (2) ST =g
(3 wfg s =™ (4) FH | HrE A

122.Journal Entry made for irrecoverable Shortworkings in the books of
lessee :

{1} P&LA/cDr. /To Shortworkings A/c

(2) Shortworkings A/c Dr./ToP&L A/c

(3] Landlord's A/c Dr./To shortworkings A/c
(4) Shortworkings A/c Dr./ To Landlord's A/c

e @ gEmnl 7 st agwd @ Sew afafte @ef
(1) #ra-ef @ ol aged g or |

(2) Sg=mE @ w=wOR /AR-E e 8

(3) wHMies =1 G FON agEE 'mr 9

(4] FYHE TR FEN/GETAS AT GEE S o= 9

123.'The Sale of Goods Act' is mot applicable in :

(1) Cash Purchase System (2) Credit Purchase System

(3) Hire Purchase System {4) Instalment Payment System
‘awg e sifefras’ any st @ ¥ |
(1) -ohs 9 T=ia J (2) IO 9 =i H

(3) RUEr A gmiy & (4) Tore o oy &
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124.The base of calculation of interest in Hire-purchase System is :
(1) Cash value of the asset
{2) Hire-purchase value of the asset
(31 Market value of the asset |
(4} Residual value of the asset

et g gafa § & 3 O s ST Bl 8
(1) e @ %S ge" (2) @i w1 AT 9 g
(3) wafed & I go (4] TR T A€ e

125.From which year Hire Purchase Act is applicable ?

Frorar e sfafaw fem ad & g 2 7
(1) 1932 {2) 1956 (3] 1972 (4} 1872

126. In Instalment Payment system the payment of the goods is done :

{1] Monthly instalment (2] Helf vearly instalment
(3} Yearly instalment (4) Periodic instalment
fred qroE gafa d axg & Jew @ A S g o

(1) =faes T & (2) oHE el &

(3) it Rt # (4) @i Rt |

127.Under Instalment Payment System, if the buyer fails to make its
payment, the Vendor can :

(1} Charge Interest (2] Sue the buyer for Payment
(3) Repossess the goods (4) Any of these options

REET o™ qfal & aveente, aft &d far gof o™ e & srgey
w1 B, af feheT & e &

(1) =ars & gyl (2) T 9T P B T gmEn
(3) Tre @ agg o (4) T | =g i
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128.Will not be included in branch account ;
(1) Cash Sales
(2} Closing Stock
(3] Goods retuned te the Head Cffice
(4) Bad Debis

o @rar 8 Himfe FEf e
(1) s famg (2) HoH =y
(3) HET B FH A AR (4) e ROl

129.1n Foreign branch accounl, the value of which of the following items

is converted inta average exchange rate ?
(1} Building (2] Machine

(3) Revenue (4] Debenture

felt s @mEl § Frereiag @ @ e oax & ofrem Rt ==
# qf¥ediga fear sar 8 7

(1) =97 (2) A=
(3) SR "% (4) T

130.Branch Adjustment Account is in the nature of

(1) Real Account (2) Nominal Account
(3) Personal Account (4) None of thes.(;
Il IS @ @ T Bt B o

(1) arEdEsh = Bl (2) AFHTH @
(3) =afRTTE = 4) =7 9 =g wEl
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131. Goods will spoiled will be shown, while accounting record of dependant
branch in H.O. books in :
{1) Branch Account (2) Branch Debtors Account

(3) Memorandum Stock Account (4) Branch wastage Account

que S Ht gEER # i e gl | Fa 99g
= BU "I @ REmar S e o

(1) emEr @mar § (2) smEn FER @
(3) T =y =@ o (4) «m@Er 89 '@ #

|
132.A Branch normally sold goods cost plus33§%i In the year 20i4-15

the branch sold the goods of ¥ 1,50,000. Cost of goods sold by branch
will be : '

U §TET " A e o 33%% Y AT o1 ey oot &

@ A a9 2014-15 F € 1,50,000 @ 9 ferm Bean) sm@r &
Brepa "& ot @me wRT

(1) 7 1,00,000 (2) 71,12,500

(3) ? 75,000 (4) ¥ 1,75,000

133.Balance of Departmental Profit & Loss will be transferred :
(1) In Trading Account
(2) In General Profit & Loss Account
(3) In Balance Sheet
(4) In Profit & Loss and Appropriation Account
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i are-efs =T & 919 1 st enn
(1) 9 Grar &

(2) W ATE-8 @ar #

(3) Forger (Reafer-fee) &

(4) wmH-zIf ofr s g §

134.Under which ratio one component is converted in one ?

(1} Profitability Ratio (2) Financial Position Ratio
{3) Activity Ratio (4] Sales Ratio

fora orqua o o orEme sk ¥ oftfr Bem ser & 7

(1) SroErERT ST (2) Psig Rafer s
(3) Fparsfieran ovquy (4) f=pa S

135.Return on Investment (R.0.1) in ratic between --------- ‘
(1) Net Profit and Capital Employed (2] Sales and Profit
(3) Sales and Capital Employed (4) Assets and Liabilities

TafFET OF O ... S e §
(1} = o9 o {faafa 3t ) Reft o amw
(3) Reht wa fafraifse Ioit (4) w=fed vd arfye

136. Current assets inchude :
(1) Goodwill (2) Furniture
(3) Debtors and Prepaid expenses (4) Investment
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aw gfeat § afisfae & B o
(1) A (2) AT
(3) 2EIT ud gadEd =F 4y R&fEm

137. The term 'Fund' as used in fund (low statement means :
{1} Cash (2) Current Assets
(3) Current liabilities

(4) Current Assets - Current liabilities

Frg-yame e $ or=rla ‘e’ et F e g ¥

{1} UHs (2) = EegferEt

(3) = wfEE ' (4) = GEafeTEr - o e
138. Which of the following is not the source of cash :

(1) Parchase of fixed Assets (2) Funds from Operation

(3] Issue of Debenture (4) Sale of Fixed Assets

Fr=forfege § 9 O &l ot w8l 2 7
(1) TRt seafaat w1 %y (2) wEEE § (BW) I™
(@) o &1 e (4) =Rt agfedt &t famt

139. Which of the following is not the application of cash ?
{}) Inecrease in outstanding expenses
{2) Increage-in prepaid expenses
(3} Increase in [nventory
(4) Increase in Bills Recivabie
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Frefsifem 7 @ O%s & ggaa 8 98 B 7

(1)
(3)

3ET =4f H ghs (2) gd=m =34t # gfes
wioa # g (4) wrm fa@ # ghe

140.Cash from operation is egual to :

(1}
(2)
(3]

(4)

Net profit + Increase in current Assets

Net profit + Decrease in current liabilities

Operating profit + Adjustment of current Assets and current
liabilities '

Current Assets - current liabilities

I 8 T%E & 9997 & & ¢

(1)
(2)
(3)

(4)

= @ + IRy gfeat § gfs

IF A9 + Hg et # me

IS A+ A qeafodl wd 9] et w gEEee
91§ - =g i

141. Operating performance is best measured by the rate of return on :

(1)
(3]

Shareholder equity (2) Fixed Assets
Total Assets - (4) Current Assets

d=red fAsaea w1 gd9s g9 s@ umyg = @ BRar sEr &

v 1

(1}
(3}

(1)

AT gHAE (2) & SR
BT G (4) =g FHEE
142. A low stock turnover indicates : ,
Over investment in stock (2) monapoly situation
Salveney position (4) Fixed Assets position

(3)
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us e @ ad U 8 o
(1) = ofy B &1 (2) TR & Rafy @

(3) wivgs Rafa & (4) TR gy A Ry o
143.Captial employed is equal to : - _

(1) Total Assets (2) Total Assets - Total liabilities

(3) Working capital (4) Fixed Assets + working capital

TR TR S SR B

(1} FHE gHafer (2) @Wﬂﬂqﬁﬂ—@mﬁw

(3) st Toft (4) T weaf + e TR

144.If the operating ratio is 79%, the net profit ratio will be :

oy daeE A 79% B, @ ' W SIEE e
(1] 100% 2) 179% (3) 21% (4) 97%

145. Interpretation of financial statement requires :
(1) Analysis and comparison
(2) Simplification and stendardisation
(3) Objectivisation and specification
{4) Moderisation and liberalisation
foacia fEver & s # anEegerar St B ¢
(1) forsdyor o gesn {2) TIEHTT T AT
() SqEvEreTE o Rlrewr  4)  smyfeReReT od S

146.Trend ratios and trend averages are used in ;
(1} Vertical Analysis (2] Herizontal Analysis
(3) Static Analysis (4} Average Analysis
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Tgitd YA GO Hgie SNES & TN BT 8 ¢

(1] o= RAyeraor (2) BT faesaer
(3) fos Rz (4) g Ao
147.When total of sources side is higher than the total of uses side, the
effect is :
(1) Profit from operation (2) Increase in working capital

(3) Decrease in working capital [4) No change in working capital

T W @ A6 HI G TG0 B GE D AT A ARF Sar &, o
o B B oo

(1) Hg/= 9 @y

(2) wrsfe 9ot F gfe

(3) @rdefter goit & @+t

(4) FELMT G0 J Fig afgdT T8

148. Debentures of ¥ 10,000 with issued at ¥ 9,000 to public only subscribed
and peid will create :

(1) Inflow of cash T 9,000 (2) Inflow of Cash ¥ 10,000
{3) Out flow of Cash ¥ 1,000 (4} ©Out flow of cash ¥ 9,000

ST A1 Freife & geser 210,000 % FoT9w @1 € 9,000 9 FRfEE
GO L :

(1} 9,000 =T UFHE I 4B

(2] 710,000 FH VHT =< 61

(3) 21,000 = UHS I qE@

(4) 79,000 H UF I BT
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149.ssue of bonus shares would be :

(1) Sources of cash (2) Usesof cash

(3) No effect on cash (4) Effect on working capital
A9 7w FEEE & e e _

(1} TwE o &=E (2) TewS & 99T

(3) Ahs 9T @i g T (4) =rfsie gsft g geE

150, When financial statements for a number of yeras are reviewed and
analysed, the analysis is called :

(1) Internal analysis (2) External analysis
(3} Vertical analysis [4) Horizontal analysis

wa FF aut B facly Reet & qarfem g Rresteor R o 2,
36 [Asdeor By FEa &

(1) onafie Fedger (2 T Ryssoor
(3] Ay Aoy (4) ATy frsdmoy
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ROUGH WORK
T &
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YT WY & I & (A A 0F § W 6 e w0 0w § s g6 @ o s e

T YA TF T F YU WA T FE I TG G ST

tqtT & on T W wy g Sfew T oo 7 o ww b w3 et A e e

T 337 T &, o s 1P - e i v ol ot o oy 41 99 T 0T

o fed wri

T = & e e-feTeT & TEYE & Sigl AT U aw Se-qem % i g
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